Discontinuita eliminabili
Periodo 3 - UdA 4

Rappresentare graficamente le seguenti funzioni
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SOLUZIONI
Discontinuita eliminabili  Periodo 3 - UdA 4

| lim f(z) = £o00 iig(l)f(a:):—oo f(2)=0 lim f(z)=0

r——3F T—00

Cdim f(r) = 400 Tim f@)=9 FO0)=1 f(5)=0 lim f(z)=—1

r——5%t r——4 T—00

Clim f(x) =0 f(0)=—1 lim f(z) = +oo lim f(z)=1

x——2 x—2% T—00

'limf(ac):—Z f(2)=0 lim f(xr) =400 lim f(x)= -3

x—0 r—3F T—00

J3=0 D f(z) = %00 lim f(z) = +oc f(3)=0 lim f(z) =0

r——92+ T—00

.f(—2):0 f(O0)=1 limf(x) =10 lim f(x) =4+oco lim f(z)= -2

z—3 T—4F T—00

| f(=3)=0 f(0)=3 lim f(x)=4o00 lim f(z)= -1

r—17F T—r00

.f(—4):O lim f(z) =Z4oc0 limf(z)=0 lim f(z)=+o00

r——1% x—0 T—F00



